
�件目�
(5.971-982.0) Spare parts list HDS 10/20-4M *EU-I

15.05.2015 ZHwww.kaercher.com

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



� 2

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



� 3

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



� 4

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



目�

Spare parts list HDS 10/20-4M *EU-I (5.971-982.0) .............................................................................................................................................................................................................................................................................. 6
10 Housing ........................................................................................................................................................................................................................................................................................................................................... 7

11 Housing top part ............................................................................................................................................................................................................................................................................................................................... 8
12 Housing bottom part ......................................................................................................................................................................................................................................................................................................................... 11

20 Pump set ....................................................................................................................................................................................................................................................................................................................................... 14
21 Cylinder head ................................................................................................................................................................................................................................................................................................................................. 15

30 �門完整 (4.580-581.0) ....................................................................................................................................................................................................................................................................................................................... 18
34 柱塞 (4.553-197.0) ........................................................................................................................................................................................................................................................................................................................... 19
40 � (4.580-594.0) .............................................................................................................................................................................................................................................................................................................................. 20
100 �品�件 (2.885-034.0) ...................................................................................................................................................................................................................................................................................................................... 22

22 Piston .......................................................................................................................................................................................................................................................................................................................................... 23
30 Motor ............................................................................................................................................................................................................................................................................................................................................ 25
40 Blower ........................................................................................................................................................................................................................................................................................................................................... 28
50 Fuel pump and filter ......................................................................................................................................................................................................................................................................................................................... 30
60 Electric control box .......................................................................................................................................................................................................................................................................................................................... 32
70 Flow heater .................................................................................................................................................................................................................................................................................................................................... 34

71 Burner cover .................................................................................................................................................................................................................................................................................................................................. 36
72 Burner cover .................................................................................................................................................................................................................................................................................................................................. 38
73 Heating coil ................................................................................................................................................................................................................................................................................................................................... 40

15 改装套件持有小�塞尔 (2.882-691.0) ......................................................................................................................................................................................................................................................................................................... 42
6 Spare parts list reversion kit holder kl .............................................................................................................................................................................................................................................................................................................. 43

10 Conversion kit holder boiler ....................................................................................................................................................................................................................................................................................................................... 44
74 Heating coil ................................................................................................................................................................................................................................................................................................................................... 46
75 Burner bottom ................................................................................................................................................................................................................................................................................................................................ 48

80 Float valve ..................................................................................................................................................................................................................................................................................................................................... 50
15 �品�件 (4.730-168.0) ...................................................................................................................................................................................................................................................................................................................... 52

90 Safety system ................................................................................................................................................................................................................................................................................................................................. 54
100 Accessories .................................................................................................................................................................................................................................................................................................................................. 56

101 Hand trigger gun ............................................................................................................................................................................................................................................................................................................................ 57
1 �柄 (4.775-463.0) ............................................................................................................................................................................................................................................................................................................................. 59

999 多歧管 �更� (4.427-215.0) ................................................................................................................................................................................................................................................................................................................... 60
999 �品�件 (4.481-209.0) ....................................................................................................................................................................................................................................................................................................................... 62

4 �品�件 (4.481-209.0) ........................................................................................................................................................................................................................................................................................................................ 64
6 多歧管 �更� (4.427-215.0) ................................................................................................................................................................................................................................................................................................................... 66

102 Rotary controller ............................................................................................................................................................................................................................................................................................................................ 68
1 旋�控制器416L (4.775-470.0) ................................................................................................................................................................................................................................................................................................................. 70

103 High pressure hose ........................................................................................................................................................................................................................................................................................................................ 72
104 Jet pipe ...................................................................................................................................................................................................................................................................................................................................... 74

1 �射管 (4.760-660.0) .......................................................................................................................................................................................................................................................................................................................... 76
105 Power nozzle ................................................................................................................................................................................................................................................................................................................................ 78

110 Control panel ................................................................................................................................................................................................................................................................................................................................ 80

� 5

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



Spare parts list HDS 10/20-4M *EU-I (5.971-982.0)

位置 名称 数量 ME

10 Housing 1.000 ST

20 Pump set 1.000 ST

30 Motor 1.000 ST

40 Blower 1.000 ST

50 Fuel pump and filter 1.000 ST

60 Electric control box 1.000 ST

70 Flow heater 1.000 ST

80 Float valve 1.000 ST

90 Safety system 1.000 ST

100 Accessories 1.000 ST

110 Control panel 1.000 ST

� 6

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



10 Housing

位置 名称 数量 ME

11 Housing top part 1.000 ST

12 Housing bottom part 1.000 ST

� 7

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



11 Housing top part

� 8

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



11 Housing top part

ET/VT 位置 材料�号 名称 数量 ME

 1 7.303-069.0 螺�M8x25-ST-R3R（IN6RD） 2.000 ST

 2 5.321-830.0 滑�左�手柄 1.000 ST

 3 5.321-831.0 滑�手柄权 1.000 ST

 4 7.303-209.0 螺�6x50-10.9的R2R（K In6Rd） 2.000 ST

X 5 5.501-083.0 Hinge cover black 2.000 ST

 6 5.317-779.0 Bolt hinge black 2.000 ST

 7 5.317-291.0 �品�件 2.000 ST

X-X 8 4.066-426.0 �品�件 1.000 ST

 9 7.303-086.0 螺� 5x30 -10.9-R2R  (K-In6Rd) 2.000 ST

 10 5.033-381.0 外框 1.000 ST

 11 7.303-106.0 螺�4x12-10.9的R2R（IN6RD） 1.000 ST

X 13 5.033-344.0 覆盖帽 1.000 ST

 14 5.332-236.0 螺旋�簧 1.000 ST

X 15 5.317-765.0 Bolt closure cover 1.000 ST

X 16 5.424-162.0 �品�件 2.000 ST

 17 5.314-143.0 Pin fixing jet pipe 4.000 ST

 18 6.303-497.0 Screw M8x35-8.8-A2E (IN6RD) 2.000 ST

 19 7.312-277.0 �圈 2.000 ST

X-X 20 6.362-377.0 "O型密封圈38,0 X2,0-70丁�橡胶" 1.000 ST

 21 5.425-495.0 �接件 1.000 ST

X-X 22 2.885-055.0 �路板 1.000 ST

 23 5.044-889.0 �路板架 1.000 ST

 24 5.033-155.0 Flap 1.000 ST

 25 5.033-113.0 �品�件 1.000 ST

 26 5.190-249.0 前板 1.000 ST

� 9

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



11 Housing top part

ET/VT 位置 材料�号 名称 数量 ME

 27 5.190-250.0 后板 1.000 ST

 28 5.317-220.0 �品�件 2.000 ST

 29 5.033-112.0 �品�件 1.000 ST

 31 6.431-274.0 �品�件 1.000 ST

 32 5.061-455.0 Sheet metal component 1.000 ST

� 10

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



12 Housing bottom part

� 11

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



12 Housing bottom part

ET/VT 位置 材料�号 名称 数量 ME

 1 5.111-065.0 Spacer sleeve 7.000 ST

 2 6.435-777.0 �品�件 1.000 ST

 3 7.303-236.0 �品�件 4.000 ST

 4 6.435-747.0 Castor 1.000 ST

 5 7.303-237.0 Screw M 8x70-St-A3K  (IN6RD) 3.000 ST

 6 7.303-046.0 螺�M6x12 4.000 ST

 7 5.424-136.0 �品�件 2.000 ST

X-X 8 4.515-345.0 �品�件 2.000 ST

X-X 9 2.889-086.0 Set wheel cap 1.000 ST

 10 6.343-162.0 �定�圈-25 2.000 ST

 11 7.312-060.0 �圈 2.000 ST

 12 7.303-236.0 �品�件 1.000 ST

 13 5.105-652.0 Axle 1.000 ST

X-X 19 5.263-087.0 �品�件 1.000 ST

 20 7.303-086.0 螺� 5x30 -10.9-R2R  (K-In6Rd) 2.000 ST

X 21 5.263-088.0 �品�件 1.000 ST

 22 5.064-231.0 Cover chemistry 2 1.000 ST

 23 5.064-221.0 Cover chemistry 1 1.000 ST

 24 5.731-039.0 ��器 1.000 ST

 25 5.363-300.0 �接� 1.000 ST

 26 4.064-013.0 Cover fuel complete 1.000 ST

 27 4.051-109.0 �嘉里建�。 1.000 ST

 28 5.027-292.0 管柄 2.000 ST

 29 7.312-277.0 �圈 1.000 ST

 38 6.363-443.0 O-Ring seal 75x5 2.000 ST

� 12

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



12 Housing bottom part

ET/VT 位置 材料�号 名称 数量 ME

 39 5.802-306.0 Holder cable 2.000 ST

 42 5.424-137.0 Fixing castor 2.000 ST

X 43 7.303-107.0 螺�5x16-10.9-P2R（K In6Rd） 2.000 ST

 44  Tap adaptor complete G1" 1.000 ST

位置文本: 1.071-422.0

� 13

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



20 Pump set

位置 名称 数量 ME

21 Cylinder head 1.000 ST

22 Piston 1.000 ST

� 14

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



21 Cylinder head

� 15

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



21 Cylinder head

ET/VT 位置 材料�号 名称 数量 ME

X 1 5.322-103.0 �品�件 1.000 ST

 2 7.311-002.0 六角螺母M5-8-A2E ISO4032 1.000 ST

 3 7.307-017.0 螺栓 1.000 ST

 4 5.304-070.0 六角螺� 1.000 ST

 5 7.401-931.0 球 1.000 ST

 6 5.582-121.0 �碟 1.000 ST

 7 5.404-082.0 空心螺� 1.000 ST

X-X 8 4.440-796.0 �管SDS 1.000 ST

X 9 5.332-444.0 螺旋�簧 1.000 ST

 10 5.584-114.0 �向� 1.000 ST

 11 5.311-204.0 六角螺母M22x1，5 1.000 ST

X-X 12 4.553-287.0 活塞完成 1.000 ST

X 13 6.362-468.0 O型密封圈1ST.-R. 1.000 ST

X 14 5.402-746.0 �接件 1.000 ST

 15 6.362-427.0 "O型密封圈，015,0 X2" 1.000 ST

 18 5.583-146.0 �螺� 3.000 ST

X-X 19 6.362-481.0 "O型密封圈14,0 X2,0-80丁�橡胶" 3.000 ST

X-X 20 2.884-512.0 �（3个） 2.000 ST

X-X 21 6.363-003.0 "O型密封圈13,0 X2,0-90丁�橡胶" 6.000 ST

 22 4.550-886.0 �品�件 1.000 ST

X-X 23 6.363-536.0 O型密封圈21x1，5 4.000 ST

 24 5.427-418.0 歧管水的�入量 1.000 ST

 25 7.306-043.0 缸盖螺�M8x30-8.8-A2E ISO 4.000 ST

 26 6.362-381.0 "O型密封圈，013,0 X2" 1.000 ST

 27 6.362-703.0 "O型密封圈6,0 X1,5-70丁�橡胶" 1.000 ST

� 16

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



21 Cylinder head

ET/VT 位置 材料�号 名称 数量 ME

X 28 5.110-865.0 �套 1.000 ST

 29 6.362-427.0 "O型密封圈，015,0 X2" 1.000 ST

X-X 30 4.580-581.0 �門完整 1.000 ST

 31 6.362-853.0 O形圈Φ4.47 1.000 ST

 32 5.402-705.0 �接件 1.000 ST

X-X 33 6.363-037.0 O型密封圈1ST.-R. 2.000 ST

X-X 34 4.553-197.0 柱塞 2.000 ST

 35 5.115-796.0 �圈 2.000 ST

X-X 36 5.332-268.0 螺旋�簧 2.000 ST

 37 5.411-148.0 螺塞 2.000 ST

 38 5.367-030.0 �品�件 2.000 ST

 39 5.034-494.0 固定支架 2.000 ST

X-X 40 4.580-594.0 � 1.000 ST

X-X 41 4.744-225.0 开关完整 1.000 ST

X-X 42 4.744-224.0 开关完整 1.000 ST

 43 5.411-504.0 螺塞 1.000 ST

 44 6.362-176.0 "O型密封圈，786,07 X1" 1.000 ST

X-X 45 5.581-239.0 �門座 1.000 ST

 46 6.362-386.0 O型圈 5,0 x 1,5-NBR 80 1.000 ST

X-X 100 2.885-034.0 �品�件 1.000 ST

� 17

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



30 �門完整 (4.580-581.0)

位置 材料�号 名称 数量 ME

6 6.362-427.0 "O型密封圈，015,0 X2" 1.000 ST

� 18

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



34 柱塞 (4.553-197.0)

ET/VT 位置 材料�号 名称 数量 ME

X-X 2 6.363-037.0 O型密封圈1ST.-R. 1.000 ST

� 19

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



40 � (4.580-594.0)

� 20

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



40 � (4.580-594.0)

位置 材料�号 名称 数量 ME

5 6.362-381.0 "O型密封圈，013,0 X2" 1.000 ST

� 21

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



100 �品�件 (2.885-034.0)

ET/VT 位置 材料�号 名称 数量 ME

X-X 1 2.884-512.0 �（3个） 2.000 ST

X-X 2 4.580-581.0 �門完整 1.000 ST

X-X 3 4.580-594.0 � 1.000 ST

 4 5.034-494.0 固定支架 2.000 ST

X-X 5 5.115-537.0 �圈 3.000 ST

X-X 6 5.115-538.0 �圈 3.000 ST

 7 5.115-796.0 �圈 2.000 ST

X-X 8 6.362-092.0 "O型密封圈36.0 X2,0-70丁�橡胶" 3.000 ST

 9 6.362-427.0 "O型密封圈，015,0 X2" 1.000 ST

X 10 6.362-468.0 O型密封圈1ST.-R. 1.000 ST

X-X 11 6.362-481.0 "O型密封圈14,0 X2,0-80丁�橡胶" 3.000 ST

X-X 12 6.362-547.0 "O型密封圈20,0 X1,5-70丁�橡胶" 4.000 ST

X-X 13 6.365-053.0 �凑型密封件20X30X6 3.000 ST

X-X 14 6.365-377.0 槽�20x30x6 3.000 ST

X-X 15 6.365-378.0 支撑� 3.000 ST

� 22

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



22 Piston

� 23

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



22 Piston

ET/VT 位置 材料�号 名称 数量 ME

X-X 1 6.288-016.0 ��油1L 1.000 ST

X 2 5.115-991.0 �圈 3.000 ST

X 3 5.332-167.0 螺旋�簧 3.000 ST

X-X 4 4.553-282.0 柱塞 3.000 ST

 5 6.472-331.0 扣� 3.000 ST

X-X 6 6.363-228.0 O型密封圈114×3 1.000 ST

 7 5.060-936.0 推力引� D 20 1.000 ST

 8 7.306-105.0 螺�M6x30-8.8-R3R（In6Rd） 2.000 ST

 9 7.306-155.0 缸盖螺�M12x100-8.8-A3E 4.000 ST

X-X 10 6.365-378.0 支撑� 3.000 ST

X-X 11 6.365-377.0 槽�20x30x6 3.000 ST

X-X 12 6.362-092.0 "O型密封圈36.0 X2,0-70丁�橡胶" 3.000 ST

X-X 13 5.115-538.0 �圈 3.000 ST

X-X 14 5.112-832.0 �品�件 3.000 ST

X-X 15 6.365-053.0 �凑型密封件20X30X6 3.000 ST

X-X 16 5.115-537.0 �圈 3.000 ST

X-X 17 6.365-052.0 槽�20X28X6/ 8 3.000 ST

� 24

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



30 Motor

� 25

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



30 Motor

ET/VT 位置 材料�号 名称 数量 ME

 0 4.623-923.0 �品�件 1.000 ST

 1 7.303-049.0 Screw M6x25-ST-A3R (IN6RD) 4.000 ST

 2 6.401-253.0 滚珠�承 6305-2Z 1.000 ST

 3 6.343-010.0 公差� 1.000 ST

X-X 4 7.318-032.0 平�6x6x32-C45R DIN6885 2.000 ST

X-X 5 5.064-459.0 Cover grey 1.000 ST

X 6 4.070-904.0 �品�件 1.000 ST

 7 6.362-722.0 "O形圈 28,0 X 3,0" 1.000 ST

 8 5.411-100.0 �品�件 1.000 ST

 9 6.362-028.0 O-Ring seal 11x2,2 NBR 70 1.000 ST

 10 5.767-005.0 橡胶�冲器 4.000 ST

 11 7.367-009.0 径向�密封�A35x52x7，丁�橡胶DIN 1.000 ST

 12 6.401-225.0 �形滚珠�承 41 1.000 ST

 13 5.120-402.0 Wobble plate 1.000 ST

 14 5.115-565.0 �圈 1.000 ST

 15 7.312-159.0 �形���圈 1.000 ST

 16 7.306-041.0 缸盖螺�M8x20-8.8-A2E ISO 1.000 ST

 17 7.318-035.0 平�8x7x25-C45R DIN6885-1 1.000 ST

 18 5.061-186.0 �承盖 B 1.000 ST

 19 5.802-288.0 安装的一部分 1.000 ST

 20 5.110-341.0 �套 2.000 ST

X-X 21 6.362-579.0 "O型密封圈17,5 X3,5" 4.000 ST

 22 5.427-415.0 Manifold 2.000 ST

 23 7.373-022.0 �管夹-16-27x9-W2-2 DIN3017 4.000 ST

X 24 6.390-320.0 Hose DN 16 1.000 M

� 26

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



30 Motor

ET/VT 位置 材料�号 名称 数量 ME

 25 5.310-061.0 螺母R 3/4" 1.000 ST

 26 5.443-224.0 管茎 1.000 ZST

 27 6.362-078.0 "O型密封圈13,3 X2，4" 1.000 ST

X-X 28 5.427-432.0 歧管 1.000 ST

X 29 6.414-141.0 ��器 1.000 ST

 30 7.303-086.0 螺� 5x30 -10.9-R2R  (K-In6Rd) 2.000 ST

 31 5.061-319.0 Housing electric box 1.000 ST

 32 5.263-086.0 Tensioning part 1.000 ST

 33 5.365-302.0 �片 1.000 ST

 34 6.303-153.0 螺�M5x15-ST-A2R（IN6RD） 3.000 ST

 35 7.303-086.0 螺� 5x30 -10.9-R2R  (K-In6Rd) 8.000 ST

 36 5.802-261.0 Mounting part 1.000 ST

 37 6.641-270.0 �品�件 1.000 ST

 38 7.303-106.0 螺�4x12-10.9的R2R（IN6RD） 2.000 ST

 39 6.632-356.0 接触器LC1-D18B7SV30 1.000 ST

X 40 2.885-054.0 ��路板完成 1.000 ST

 41 5.064-226.0 Cover electric box 1.000 ST

 42 6.649-384.0 �品�件 1.000 ST

� 27

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



40 Blower

� 28

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



40 Blower

ET/VT 位置 材料�号 名称 数量 ME

 1 5.064-266.0 �品�件 1.000 ST

 2 7.303-129.0 螺� 4x16 4.000 ST

 3 7.303-084.0 螺� 4x25 -10.9-R2R  (K-In6Rd) 14.000 ST

 4 5.064-238.0 覆盖鼓�机 1.000 ST

X 5 7.303-107.0 螺�5x16-10.9-P2R（K In6Rd） 1.000 ST

 6 7.312-278.0 �圈 1.000 ST

 7 5.606-009.0 �門片 1.000 ST

X-X 8 5.471-097.0 燃油�耦合器 1.000 ST

 9 6.304-145.0 螺�M6X20 1.000 ST

 10 7.312-260.0 �圈 5.000 ST

X-X 11 7.318-032.0 平�6x6x32-C45R DIN6885 2.000 ST

X-X 12 2.641-430.0 Conversion kit blower wheel 1.000 ST

 13 7.303-048.0 螺�M6x20 ST-R3R（In6Rd的） 4.000 ST

 15 5.379-019.0 橡胶密封圈 4.000 ST

 16 5.605-307.0 �品�件 1.000 ST

 17 5.195-252.0 密封件 1.000 ST

 18 5.075-036.0 �� 1.000 ST

 20 5.043-056.0 支架 1.000 ST

 21 5.263-094.0 ��� 1.000 ST

 22 5.263-096.0 ��� 1.000 ST

� 29

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



50 Fuel pump and filter

� 30

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



50 Fuel pump and filter

ET/VT 位置 材料�号 名称 数量 ME

X 1 6.389-262.0 活接�螺母 1.000 ST

X-X 2 6.389-263.0 切割�D.4 1.000 ST

X-X 3 4.473-032.0 �品�件 1.000 ST

X 4 6.391-820.0 �品�件 1.000 M

 5 6.388-559.0 管夹 2.000 ST

X-X 6 4.730-167.0 �品�件 1.000 ST

X-X 7 6.414-559.0 燃油��器 1.000 ST

 8 5.363-629.0 密封件 1.000 ST

 9 5.365-290.0 Rubber bushing fuel 1.000 ST

X-X 10 6.473-554.0 �圈Brennstoffpumpe 1.000 ST

� 31

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



60 Electric control box

� 32

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



60 Electric control box

ET/VT 位置 材料�号 名称 数量 ME

X-X 1 4.686-029.0 �品�件 1.000 ST

 2 5.820-088.0 �品�件 1.000 ST

 3 6.644-364.0 Terminal clamp four-core triple-pole 1.000 ST

X 4 6.622-283.0 控制��器 1.000 ST

 5 6.682-881.0 �路板的�流互感器 1.000 ST

 6 5.033-111.0 �品�件 1.000 ST

X 7 5.324-172.0 Handle qusty grey RAL 7037 1.000 ST

 8 6.630-423.0 �品�件 1.000 ST

X 9 5.801-151.0 �品�件 1.000 ST

 10 6.343-186.0 Locking ring 1.000 ST

 11 6.649-379.0 Cable with plug 4x1,5mm² 1.000 ST

 12 5.802-307.0 Holder cable 1.000 ST

 13 5.263-086.0 Tensioning part 1.000 ST

 14 7.303-106.0 螺�4x12-10.9的R2R（IN6RD） 1.000 ST

 15 6.641-270.0 �品�件 1.000 ST

 17 2.885-110.0 控制��只�replacem完成 1.000 ST

 18 6.649-340.0 Cable 4x1,5 1.000 ST

 19 6.649-383.0 Cable 2x0,35  700mm 1.000 ST

� 33

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



70 Flow heater

� 34

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



70 Flow heater

位置 名称 数量 ME

71 Burner cover 1.000 ST

72 Burner cover 1.000 ST

73 Heating coil 1.000 ST

74 Heating coil 1.000 ST

75 Burner bottom 1.000 ST

� 35

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



71 Burner cover

� 36

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



71 Burner cover

ET/VT 位置 材料�号 名称 数量 ME

 1 7.303-240.0 Screw M5x40-ST-A2E  (IN6RD) 1.000 ST

X-X 2 4.622-038.0 �品�件 1.000 ST

 3 6.278-018.0 玻璃面板 1.000 ST

 4 6.343-165.0 ��� 1.000 ST

 5 7.311-101.0 六角螺母M10X1-04-A2E ISO8675 1.000 ST

 6 7.312-302.0 �簧�圈 1.000 ST

 7 4.654-288.0 Cover pressure boiler only for replaceme 1.000 ST

 8 5.667-055.0 �嘴支架 1.000 ST

 9 7.312-304.0 Spring washer B 5-FST-A2E  DIN 137 1.000 ST

 10 7.306-217.0 螺�M5x14-8.8-A2R（In6Rd） 1.000 ST

X-X 11 2.638-974.0 点火�极改装套件 1.000 ST

X-X 13 6.415-641.0 �嘴 1.000 ST

 14 7.303-038.0 螺�M5x12-ST-P2R（In6Rd） 3.000 ST

X 15 6.389-262.0 活接�螺母 1.000 ST

X-X 16 6.389-263.0 切割�D.4 1.000 ST

 17 5.423-347.0 管道燃料 1.000 ST

� 37

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



72 Burner cover

� 38

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



72 Burner cover

ET/VT 位置 材料�号 名称 数量 ME

 1 7.303-240.0 Screw M5x40-ST-A2E  (IN6RD) 1.000 ST

X-X 2 4.622-038.0 �品�件 1.000 ST

 3 6.278-018.0 玻璃面板 1.000 ST

 4 6.343-165.0 ��� 1.000 ST

 5 7.311-101.0 六角螺母M10X1-04-A2E ISO8675 1.000 ST

 6 7.312-302.0 �簧�圈 1.000 ST

 7 4.654-288.0 Cover pressure boiler only for replaceme 1.000 ST

 8 5.667-055.0 �嘴支架 1.000 ST

 9 7.312-304.0 Spring washer B 5-FST-A2E  DIN 137 1.000 ST

 10 7.306-217.0 螺�M5x14-8.8-A2R（In6Rd） 1.000 ST

X-X 11 2.638-974.0 点火�极改装套件 1.000 ST

X-X 13 6.415-641.0 �嘴 1.000 ST

 14 7.303-038.0 螺�M5x12-ST-P2R（In6Rd） 3.000 ST

X 15 6.389-262.0 活接�螺母 1.000 ST

X-X 16 6.389-263.0 切割�D.4 1.000 ST

 17 5.423-008.0 Conduit fuel 1.000 ST

� 39

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



73 Heating coil

� 40

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



73 Heating coil

位置 材料�号 名称 数量 ME

1 4.652-139.0 外壳完成 1.000 ST

2 6.303-258.0 自攻螺� 3.000 ST

3 5.654-051.0 �品�件 1.000 ST

4 4.663-073.0 �品�件 1.000 ST

5 5.664-256.0 燃�器的一部分 1.000 ST

6 4.680-135.0 加��圈 1.000 ST

6 4.680-137.0 加��圈弗吉尼�州 1.000 ST

7 7.311-112.0 �品�件 2.000 ST

8 7.312-278.0 �圈 2.000 ST

9 6.303-320.0 螺�M5X-ST-20日的R2R 2.000 ST

10 5.034-834.0 �品�件 1.000 ST

11 7.304-051.0 六角螺�M8X16-8.8-A2C EN 3.000 ST

12 5.044-420.0 支架 3.000 ST

13 6.310-081.0 ��螺帽M 8 3.000 ST

14 7.303-111.0 螺�5x50-10.9的R2R（K In6Rd） 2.000 ST

15 2.882-691.0 改装套件持有小�塞尔 1.000 ST

� 41

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



15 改装套件持有小�塞尔 (2.882-691.0)

位置 名称 数量 ME

5 Assembly instruction holder small Kessel 1.000 ST

6 Spare parts list reversion kit holder kl 1.000 ST

� 42

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



6 Spare parts list reversion kit holder kl

位置 名称 数量 ME

10 Conversion kit holder boiler 1.000 ST

� 43

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



10 Conversion kit holder boiler

� 44

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



10 Conversion kit holder boiler

位置 材料�号 名称 数量 ME

1 7.303-111.0 螺�5x50-10.9的R2R（K In6Rd） 2.000 ST

2 7.312-278.0 �圈 4.000 ST

3 6.303-320.0 螺�M5X-ST-20日的R2R 2.000 ST

� 45

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



74 Heating coil

� 46

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



74 Heating coil

ET/VT 位置 材料�号 名称 数量 ME

 1 4.652-004.0 Outer covering complete 1.000 ST

 2 6.303-258.0 自攻螺� 3.000 ST

 3 5.654-051.0 �品�件 1.000 ST

 4 4.663-073.0 �品�件 1.000 ST

 5 5.664-256.0 燃�器的一部分 1.000 ST

 6 4.680-114.0 Heating coil VA 1.000 ST

 6 4.680-135.0 加��圈 1.000 ST

 7 7.311-112.0 �品�件 2.000 ST

 8 7.312-278.0 �圈 2.000 ST

 9 6.303-320.0 螺�M5X-ST-20日的R2R 2.000 ST

 10 5.034-834.0 �品�件 1.000 ST

 11 7.304-051.0 六角螺�M8X16-8.8-A2C EN 3.000 ST

 12 5.044-420.0 支架 3.000 ST

 13 6.310-081.0 ��螺帽M 8 3.000 ST

 14 7.303-111.0 螺�5x50-10.9的R2R（K In6Rd） 2.000 ST

X 15 5.412-001.0 Holder Kessel ovale Heizschlange 1.000 ST

� 47

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



75 Burner bottom

� 48

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



75 Burner bottom

ET/VT 位置 材料�号 名称 数量 ME

 1 6.366-009.0 密封条 1.000 ST

 2 4.655-044.0 �力�炉底 1.000 ST

 3 5.263-064.0 ��� 1.000 ST

X-X 4 4.686-031.0 �品�件 1.000 ST

X-X 5 4.427-329.0 �品�件 1.000 ST

 6 6.970-929.0 �品�件 1.000 ST

 7 5.051-114.0 �品�件 1.000 ST

 8 5.424-142.0 Foil shield 1.000 ST

� 49

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



80 Float valve

� 50

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



80 Float valve

ET/VT 位置 材料�号 名称 数量 ME

X 1 5.587-214.0 �罩 1.000 ST

 2 5.364-095.0 平�圈 1.000 ST

 3 5.584-085.0 �向� 1.000 ST

 4 5.481-256.0 杠杆 1.000 ST

 5 5.585-030.0 浮子 1.000 ST

X-X 6 4.070-658.0 �品�件 1.000 ST

 7 4.747-097.0 �品�件 1.000 ST

X 8 5.310-167.0 Nut G 3/4" 1.000 ST

 9 6.362-078.0 "O型密封圈13,3 X2，4" 1.000 ST

 10 5.443-211.0 �品�件 1.000 ST

 11 6.392-258.0 Piece of tube 19x4x280 1.000 ST

 12 5.112-193.0 Bush 1.000 ST

 13 5.443-553.0 �品�件 1.000 ST

 14 6.362-161.0 "O型密封圈19,3 X2,4" 1.000 ST

X-X 15 4.730-168.0 �品�件 1.000 ST

 16 5.731-587.0 水��器 1.000 ST

 17 5.363-336.0 密封件 1.000 ST

 18 5.363-545.0 �品�件 1.000 ST

 19 7.373-022.0 �管夹-16-27x9-W2-2 DIN3017 2.000 ST

 24 5.365-289.0 �品�件 1.000 ST

X-X 25 4.686-030.0 �品�件 1.000 ST

 27 6.641-474.0 ��胶�8-210 2.000 ST

� 51

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



15 �品�件 (4.730-168.0)

� 52

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



15 �品�件 (4.730-168.0)

位置 材料�号 名称 数量 ME

2 5.731-587.0 水��器 1.000 ST

3 5.363-336.0 密封件 1.000 ST

4 5.363-545.0 �品�件 1.000 ST

5 5.731-588.0 Filter housing 1.000 ST

� 53

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



90 Safety system

� 54

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



90 Safety system

ET/VT 位置 材料�号 名称 数量 ME

X-X 1 2.885-051.0 更�簧片开关 1.000 ST

 2 6.303-122.0 螺� M4.2x13 1.000 ST

 3 5.041-076.0 夹 1.000 ST

 4 5.305-162.0 异型螺� 1.000 ST

 5 6.362-482.0 O型密封圈10×1.5丁�橡胶70 1.000 ST

X-X 7 4.551-058.0 �品�件 1.000 ST

X-X 8 4.427-341.0 �品�件 1.000 ST

 9 6.362-845.0 �品�件 1.000 ST

 10 4.580-709.0 安全�完全替代 1.000 ST

X-X 11 6.414-566.0 ��器 1.000 ST

 12 5.378-150.0 �品�件 1.000 ST

 13 5.767-023.0 �品�件 1.000 ST

 14 7.303-108.0 螺�5X20-10.9的R2R（In6Rd） 1.000 ST

X-X 15 6.389-811.0 高�胶管 1.000 ST

 16 6.401-429.0 �品�件 1.000 ST

� 55

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



100 Accessories

位置 名称 数量 ME

101 Hand trigger gun 1.000 ST

102 Rotary controller 1.000 ST

103 High pressure hose 1.000 ST

104 Jet pipe 1.000 ST

105 Power nozzle 1.000 ST

� 56

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



101 Hand trigger gun

� 57

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



101 Hand trigger gun

ET/VT 位置 材料�号 名称 数量 ME

X-X 1 4.775-463.0 �柄 1.000 ST

 2 7.303-096.0 螺�4x22-ST-10.9的R2R（IN6RD） 7.000 ST

 3 5.481-331.0 滑板 1.000 ST

 4 4.481-209.0 �品�件 1.000 ST

 5 5.321-669.0 �品�件 1.000 ST

X 6 4.427-215.0 多歧管 �更� 1.000 ST

X 7 4.037-013.0 � 1.000 ST

 8 5.110-596.0 �套 1.000 ST

� 58

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



1 �柄 (4.775-463.0)

ET/VT 位置 材料�号 名称 数量 ME

X 2 4.037-013.0 � 1.000 ST

 3 6.368-012.0 Protecting cap 22X1,5 1.000 ST

 4 6.869-075.0 Metal bonding agent 1 ml 1.000 ST

 25 5.110-596.0 �套 1.000 ST

 32 5.321-669.0 �品�件 1.000 ST

 34 5.481-331.0 滑板 1.000 ST

 41 6.288-028.0 Silicon grease 1.000 ZST

 45 7.303-096.0 螺�4x22-ST-10.9的R2R（IN6RD） 7.000 ST

 49 5.314-119.0 Pin 2.000 ST

 55 6.363-331.0 O-Ring seal 9,0 x 1,5 1.000 ST

 57 6.363-330.0 O-Ring seal 2,9 x 1,78 1.000 ST

 101 6.376-020.0 Label 65X55 MM 1.000 ZST

 510 6.286-058.0 封箱胶� L=50mm 0.140 M

 520  木托�800×1200×144 0.005 ZST

 999 4.481-209.0 �品�件 1.000 ST

X 999 4.427-215.0 多歧管 �更� 1.000 ST

� 59

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



999 多歧管 �更� (4.427-215.0)

� 60

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



999 多歧管 �更� (4.427-215.0)

位置 材料�号 名称 数量 ME

15 6.363-331.0 O-Ring seal 9,0 x 1,5 2.000 ST

17 6.363-330.0 O-Ring seal 2,9 x 1,78 1.000 ST

� 61

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



999 �品�件 (4.481-209.0)

� 62

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



999 �品�件 (4.481-209.0)

位置 材料�号 名称 数量 ME

2 5.314-119.0 Pin 2.000 ST

� 63

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



4 �品�件 (4.481-209.0)

� 64

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



4 �品�件 (4.481-209.0)

位置 材料�号 名称 数量 ME

2 5.314-119.0 Pin 2.000 ST

� 65

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



6 多歧管 �更� (4.427-215.0)

� 66

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



6 多歧管 �更� (4.427-215.0)

位置 材料�号 名称 数量 ME

15 6.363-331.0 O-Ring seal 9,0 x 1,5 2.000 ST

17 6.363-330.0 O-Ring seal 2,9 x 1,78 1.000 ST

� 67

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



102 Rotary controller

� 68

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



102 Rotary controller

ET/VT 位置 材料�号 名称 数量 ME

X-X 1 4.775-470.0 旋�控制器416L 1.000 ST

 2 7.343-008.0 "���25x1,2-ST-VZ DIN471" 1.000 ST

 3 5.321-668.0 �品�件 1.000 ST

X-X 4 4.363-695.0 �品�件 1.000 ST

� 69

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



1 旋�控制器416L (4.775-470.0)

� 70

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



1 旋�控制器416L (4.775-470.0)

ET/VT 位置 材料�号 名称 数量 ME

 4 5.321-668.0 �品�件 1.000 ST

X-X 12 4.363-695.0 �品�件 1.000 ST

 30 7.343-008.0 "���25x1,2-ST-VZ DIN471" 1.000 ST

� 71

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



103 High pressure hose

� 72

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



103 High pressure hose

ET/VT 位置 材料�号 名称 数量 ME

X 1 6.391-351.0 只更�高��管 1.000 ST

X-X 2 4.363-691.0 O型圈 1.000 ST

 3 2.880-990.0 O型圈 1.000 ST

� 73

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



104 Jet pipe

� 74

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



104 Jet pipe

ET/VT 位置 材料�号 名称 数量 ME 起始星期�号 �束星期�号

X-X 1 4.760-660.0 �射管 1.000 ST 0000000000 0000000000

 2 7.303-129.0 螺� 4x16 6.000 ST 0000000000 0000000000

 3 5.321-855.0 把柄 1.000 ST   

 4 2.880-990.0 O型圈 1.000 ST 0000000000 0000000000

X-X 5 7.401-915.0 球 20.000 ST 0000000000 0000000000

X-X 6 4.363-692.0 槽� 1.000 ST 0000000000 0000000000

 7 6.362-524.0 "O形圈密封17,0×1.5" 1.000 ST 0000000000 0000000000

X-X 8 5.401-210.0 螺��接部分 1.000 ST 0000000000 0000000000

� 75

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



1 �射管 (4.760-660.0)

� 76

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



1 �射管 (4.760-660.0)

ET/VT 位置 材料�号 名称 数量 ME

 3 5.321-855.0 把柄 1.000 ST

X-X 14 5.401-210.0 螺��接部分 1.000 ST

 15 7.362-501.0 O型密封圈10×23770三元乙丙70 DIN 1.000 ST

X-X 18 7.401-915.0 球 1.000 ST

� 77

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



105 Power nozzle

� 78

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



105 Power nozzle

ET/VT 位置 材料�号 名称 数量 ME

X-X 1 2.883-927.0 强力�嘴25054 1.000 ST

 1 2.885-041.0 蒸汽�嘴 1.000 ST

 2 2.880-990.0 O型圈 1.000 ST

� 79

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



110 Control panel

� 80

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com



110 Control panel

ET/VT 位置 材料�号 名称 数量 ME

 1 4.841-204.0 控制面板�用于更� 1.000 ST

X-X 2 4.063-842.0 清洁��量� 1.000 ST

 3 6.388-559.0 管夹 4.000 ST

X 4 6.391-341.0 清洁��管DN6 1.000 M

X 5 5.132-195.0 Plug aspiration chemistry 2.000 ST

 6 5.731-638.0 �品�件 2.000 ST

X-X 7 2.885-052.0 ��路板完成 1.000 ST

 9 7.303-106.0 螺�4x12-10.9的R2R（IN6RD） 2.000 ST

X 10 4.630-005.0 �品�件 1.000 ST

X-X 11 6.630-421.0 程序��开关 1.000 ST

 12 7.305-019.0 �品�件 4.000 ST

 13 5.321-847.0 �品�件 1.000 ST

 14 5.321-848.0 �品�件 1.000 ST

 15 5.321-844.0 �品�件 1.000 ST

X-X 16 4.423-020.0 Pressure gauge only for replacement 0-25 1.000 ST

 17 7.303-106.0 螺�4x12-10.9的R2R（IN6RD） 1.000 ST

 18 5.044-850.0 �品�件 1.000 ST

 19 5.363-721.0 �接� 1.000 ST

Powered by TCPDF (www.tcpdf.org)

� 81

东莞市高洁清洁设备有限公司      热线：0769-22674711    15622932572  网址：www.dgkarcher.com

http://www.tcpdf.org

	目录
	Spare parts list HDS 10/20-4M *EU-I (5.971-982.0)
	10 Housing
	11 Housing top part
	12 Housing bottom part

	20 Pump set
	21 Cylinder head
	30 阀门完整 (4.580-581.0)
	34 柱塞 (4.553-197.0)
	40 阀 (4.580-594.0)
	100 备品备件 (2.885-034.0)

	22 Piston

	30 Motor
	40 Blower
	50 Fuel pump and filter
	60 Electric control box
	70 Flow heater
	71 Burner cover
	72 Burner cover
	73 Heating coil
	15 改装套件持有小凯塞尔 (2.882-691.0)
	6 Spare parts list reversion kit holder kl
	10 Conversion kit holder boiler



	74 Heating coil
	75 Burner bottom

	80 Float valve
	15 备品备件 (4.730-168.0)

	90 Safety system
	100 Accessories
	101 Hand trigger gun
	1 枪柄 (4.775-463.0)
	999 多歧管 仅更换 (4.427-215.0)
	999 备品备件 (4.481-209.0)

	4 备品备件 (4.481-209.0)
	6 多歧管 仅更换 (4.427-215.0)

	102 Rotary controller
	1 旋转控制器416L (4.775-470.0)

	103 High pressure hose
	104 Jet pipe
	1 喷射管 (4.760-660.0)

	105 Power nozzle

	110 Control panel


